AN > S o6 Y — N - = — — -~
SHIEE 2024FE)FAAFVUERSEEFRRSE N\ ETFH—E(REVMHRIANFOHHEATR)
N LIS B O E
:_P 7KE£2% En,uqzl)t% En,% = REY E‘I /:E %l:l %
N 2 =N ol “ZE ¢\5§§ ol H i ] 5355 1 %
. x BH | g |OE #EEn | miEAE | I |wesAs | meeas | TEUEE BERE| mmugr |THOCRE D) @E
B E 8 KERTEE e TEG/m®N (BIEEHA)
. |msnares 10799 AR H43.15 H12.2.8 fhik !
RS EEEE B AMEIRGR ek (9900 Ke/H BEa% 3
S 13.4m 10 4
, |*Eme41 No. 1 E£4R H8.1.1 H12.2.22 23] : HAE
EREAHEELS HLHR aippE  P00KeH L BAE :
14m 4
3 10875 a 1 BRI H5.8 1 H12.2.14 285 ; R7.6.2 R6.6.13 292,800 17.3 B O (J&E2R) 0.0015 [ @&
INEETS01 » S —— 2,208.0 Kg/H BEER 3
. 5 4
NEFKBEEV 22— 0 BSE RS AR H712 1 H12.2.14 28 1 R7.6.2 R6.5.16 391,200 16.2 O (FE2E) 0| ®EE
4 HIEHY - 2
5;’ﬁ,§)]]5ﬁ'ﬁ)5 4,2900 Kg/H EE‘IEQ ‘31
10923 1B RIEHF R4.10.1 R2.3.24 218 1 R7.6.6 R6.5.28 364,800 6.8 15 RIEZE 0016 [ @&
5 3530 K o g R7.6.6 R7.2.19 379,200 6.8 15 RIEZE 0017 [ @&
TRENER P o 2 EX
3.46m 1 4
6 EAT2700E Hh 0B T IE I RA10 1 R2.3.24 218 ; E;.g.g 2(75.?.32 362,400 7.2 zv:q%k;‘.‘;g 0.013 g@ﬁ NV ERB T
N E A S e 3530 K s 2 6. 1. 458,400 7.2 25 RIEZE 0011 [ #EA
3.46m 1 4
7 A2 INER AR RA10 1 R2.3.94 208 ; R7.6.6 R6.5.28 362,400 7.2 25 RIER 0.013 [ EE |25 FERFAIE
w=+ni= 90.0 Kg/H fre 3
Z D BEEMBRENR 1995m3 5”“ 2
. 10955 R PG RF 1 B4R H7.2.21 H12.2.14 thit ;
R 750.0 Kg/H BEES% 3
A RLF 491m 0 4
B A RIE2 2 E H7.2.21 H12.2.14 R1E 1
9 RS —— 7500 Ke/H By :
ik 491m 10 4
o = HIEEIF 1 BF H7.2.21 H12.2.14 e ; S;'g'}; R6'14'19 496,800 9:4 1S URIES 0.024 | i &
BT 91 6 e 70 KT - 2 6. R6.10.25 559,200 10.1 1 S IR IEZE 0.00011 | 5@&
e 22.34m 1 4
NEFHREWERTE = BRI IR H7.2.21 H12.2.14 - i R7.6.17 R6.5.23 679,200 10.6 25 PR 0024 | BE
11 R - g R7.6.17 R6.10.1 638,400 10.5 25 RIESE 0.029 | EE&
Zl‘_jjiﬁ ! ’ & 2 B
22.34m 1 4
= HIEHIE R R H7.2.21 H12.2.14 Rt 1
12 AEHY — 4.167.0 Ke/H BE =% :
A—N4F ' 22 34 i 4
. e H7.2.21 H12.2.14 28 ; R7.6.17 R6.6.21 8,550 16.9 BRI IERE 034 | ®E
sl gy |90.0 Ke/H BEE% 3
y 2 — 3718 13460 No. 1 E14F HO 4.1 H12.28 2 ; R7.1.20 R6.11.28 20,600 14.8 (& e 0.075 | &&
SEBERRRA MEHY | EERECEE (00K L B 3
- |meariear—2 13516] gL H12.11.1 H12.6.6 28 ; R6.6.17 R6.5.9 32,832 11.2 AIE O 042 | EE
‘AR NFAY WEHY | BEEFCER |120KeH L BE 3
.13m 4
13546 - e
o |mAzmsisie—2 No. 1 £1%7 H15.10.10 H15.8.18 EL .
HXot HBED =4 e =T ] 153.0 Kg/H ek R7.3.31 3
3 hiEER BEMES 1 & 7€ BRIF (K R KF) 1 53 51 (R748) 4
o |esuE2—a-e 3980 BEMEAE H4.11.20 H13.11.26 e L) ] FAE
A EERAXE Al E &HY KA&EFIFR 1 4o 10" 4
1 |EWET222 14241 No1EHN4F H11.12.20 H15.2.27 A1k ;
ERREHRX R BERECkE (MOKeH L B 3
. I 16433 No.1 H19.1.30 H27 25 28 ; R6.6.7 R6.4.30 3,256 11.7 AlE DO 017 | &&
B ARRE (2D O I e 3

1.3




THGFEE (2024FE) F A XL UK

SEEFEARR N\NEFH—E(REVENFOBENIRE)

ENFE i A T £ E -
—K _ I DG N F s G N= G N .
2 =1 F£AB F£AB FRENE R (ne-TEQ/g) R (ne-TEQ/) FRENE R (ne-TEQ/g) FRERE A (ne~TEQ/g) ik
10799 1 K1
| |EFHE783 2
ERE BEmE j
10849 1 FKAIE
, |XEET641 2
EFUEAMEZILIS FLHR :
10875] 1 R7.6.2 R6.6.13 15 R RAy/\— 0 I ER
5 |MNEETS501 2 R7.6.2 R6.5.16 2B R R ARy 7 8\ — 0 3 | @&
NEFKBEES— 3
10923] 1 R7.6.6 R6.5.27 |1 5RIREEET 0 3 |@EE
EEET2700% 1 2 R7.6.6 R6.5.29 FIKETEFE 0.64 EfEEH O 063 3 [@E&
RGP 3 R7.6.6 R6.8.20 AR O 24| 3 |@&E&
4 NEFHEIY - 4 R7.6.6 R6.125 |2BRBEEBT 0 3 |@s
5 R7.6.6 R6.12.9 RIKETEE S 0.63 Hots iz qan] W] 073| 3 |[@&E&
6 R7.6.6 R7.2.18 EEREH O 059 3 |@&
10955 1 R7.6.17 R6.4.1 KEYk 0.0044 | S RMEITEEEE 0.33 A ZEEE v 023 3 |&EA
5 FET 191635} 2
NEFHFWERTS :
13460 1 R7.1.20 R6.11.29 BEENE O 0.0037 | H440O>r0O 0.95 3 | @EE
6 FRET2—37—15 2
SEBEHARI :
13516 1 R6.6.17 R6.5.13 AR O 0.40 |77 ns—gucatmrsa 0.19 R ER
;  |m®BET1927-2 2
He NFAY :
13546] 1 R7.3.31 L1t
8 $EkFEA/1318—2 2
HRARH BORE AHES :
13980 1 FKAIE
FHEREIT LRSS j
14241 1 R1E
10 |FWET222 2
EEREKkL L j
16433] 1 R6.6.7 R6.4.30 BEENF N 0.22 |[ZREABEEREO 0.17 3 |#EE&
11 FWHET511 2
HRaH AARE 2B :

273




TH6EE (20245FE) F A4 XL U EKEEEBAMER \EFih—& (BEHK)

=X 2R - B T £ F
= a—kK B s BEEiKR A w = o8 e s AL
&5 — W S0 (DB T U S BEISBRE EiLEHH § é&;ﬁ Ea;qﬂé IS A (##375; 33;:{5;1;55 e Enﬂ HE
2% wRro0BK| (FEiLEEE) | 7 m Pe ’
N 10875 2 s st o At oK [ 1 R7.6.2 R6.10.2  [#EKO (R O) 164,490 0.00080 [ 10 |&&
bo|REEeO] TRER RIS x 2
NEFKEEL I— BX HKE 3
10923 1 R7.6.6 R6.5.9 WUGRIK 13.3 0.00023 | 10 | @& SEE
2 |fEET2700%F HL 2 R7.6.6 R6.11.7 WUGR K 8.5 0.00015| 10 | @& SEE
INEFHEY -t 53— 3
10955 . SR Tk B 1 R7.6.17 R6.419 [AXTKEMT 52.4 0.00048 | 10 | @&
3 |EwEr1916% st JRETEEHEER X 5 7 onE = 2 R7.6.17 R6.9.3 |A&HTKEKF 65| 0000024 | 10 |@&
NEFHEWERIIS HEXKE - 3 T
13516 P . 1 JKEE
4 |mAET1927—2 BEN AR SR x 1 AR TKE 2
BXEH NFAD HEKE 3

3.3




